V@ United Nations
&YV Statistics Division

~ N

Electricity - Exercise

B\ TN 5 B D g e
\ - TR e e e oy
e— - E Oy, o LB NS 1
T\ dbdasr SN r
NN\ i 11 Hgl SR
sl Al P

e >/ -_— S B TP e W

Leonardo Souza
Chief, Energy Statistics Section

Lima, Peru, 12 November 2019
Workshop on energy statistics for the LA and the C regions



Exercise: electricity production from diesel

Diesel used for electricity:

The 1300 kt of diesel used by the main electricity company
generated 5200 GWh, but only 5000 GWh sent to grid

The 1000 kt of diesel used by IPPs generated 3500 GWh, where
3400 GWh sent to grid

The 300 kt of diesel used by other companies produced 900
GWh, where 800 GWh used by them (400 GWh commercial and
400 GWh industrial) & 100 GWh sent to grid

The 100 kt of diesel used by households produced 250 GWh,
which were consumed by households.

What is the gross and what is the net electricity production?



Answer in GWh

Gross prod.

Main elec. Co. 5200
IPPs 3500
Other Cos. 900

Households 250

Net prod.

5000
3400
900*
250*

Own use

200
100
0*
0*



Exercise: other electricity production

The main electricity company also generated 600 GWh
from hydro, 30 GWh from wind and 12 GWh from solar PV,
all of which being fed to the grid (negligible own use).

Households generated 2 GWh from solar PV, 1 GWh of
which being fed to the grid.

Other commercial companies generated 5 GWh from solar
PV, all of which used by them.



With the info above, fill out the table in GWh

Thermal (diesel)

Hydro
Solar

Wind

Total

Main activity
Autoproducer
Main activity
Autoproducer
Main activity
Autoproducer
Main activity
Autoproducer

Gross production

Own use

Net production



Solution: electricity production in Gwh

Electricity production in Gwh

Gross production  Own use  Net production

Thermal (diesel) Main activity 8700 300 8400
Autoproducer 1150 - 1150
Hydro Main activity 600 - 600
Autoproducer 0 - 0
Solar Main activity 12 - 12
Autoproducer 7 - 7
Wind Main activity 30 - 30
Autoproducer 0 - 0

Total 10499 300 10199



Exercise (cont.)

Knowing that:

An additional 45 GWh of electricity were imported and 22
GWh were exported; and
Electricity were delivered through the grid as follows:

1900 GWh to commercial establishments;

2000 GWh to households;

4000 GWh to industrial establishments

100 GWh to agriculture

10 GWh to trains

Fill the following table:



Final consumption (GWh)

Fill the yellow cells.

Does supply match final consumption?

Net production
Imports
Exports

Supply

Through grid At production site

Final Consumption
Industrial
Transport
Commercial
Agriculture
Households



Answers

Does supply match the final consumption? If not, what can

be the causes?

Net production
Imports
Exports

Supply

Final Consumption
Industrial
Transport
Commercial
Agriculture
Households

10199
45
22
10222

9066
4400
10
2305
100
2251

3010
4000
10
1900
100
2000

Through grid At production site

1056
400
0
405
0
257



